Grade 10 Essentials
Math

Weekly Quiz Debrief
Week 4
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Grade 10 Essential Week 4 Quiz

A Regular Weekly Thursday Quiz.
Time Limited! Submit it by 12:00 (no later) if stuck at home. It will be shut off by then.
Open book; (since teacher cannot police it anywa mw&gr fh “ﬁ')ebmﬁyuu will find
having a cheat sheet will have been m o{g@ﬁe sefu Qﬁnmg and readily
finding information. You are E?M- ave Fjr@at shee We'Einal Exam. Here is MY

: ae an ef\{oN
Cheat Sheet. Mo cas® ox\r®
You will certamB m\zﬁs?me n’b%%ce of paper and pencil to solve a couple of these
problems. E’ﬁ?n W@Eeds response, guess if necessary!

sel

Ensure you include units in any written response! There are two bonus questions, do them
too in case you need them! [2 marks each]

Have your [Yellow] Conversion Tables at the ready or on your device.
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£ UREMENT Convenes...

Lots of conversion factors. A few of the basics should

be memorized!

12 in=1 ft; 100 cm =1 m; 1 kilothing = 1,000things,
254cm=1in;1kg=2.21b
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Just like grandma’s secrel recipe for muffins

16 Ibs is how many kg?
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2. Solve Proportion. If 4 bananas cost $2.50, then state below how much 18
bananas will cost. -_J/
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Guys and gals! Show the units in the calculations!
HIf of the students still just randomly fling numbers
down and in the wrong arrangement
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Convert 3.2 kg into grams. [Select the one best answer] *

Mark only one oval.
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4. 456cm=___ 7 m * Usbom: ( T,_.%'m)
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5. Convert 6 ft 3ininto 2‘3 inches * |1 »

Mark only one oval. LP é -Eé.' - l ?}Qé = 1")‘;“ +§;;Y::h

6.3 ft

6.3 * 10 = 63 inches
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None of these other choices
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6.

The doctor says a newborn weighs 6 Ib. Determine the newborn's weight in proper
metric kilograms rounded to the nearest 0.01 of a kg.

Ebs (—25) = 200Ky

oo X0

_‘founo{s t:w..l.':lll-a'«E
y—uakt. J—Kg LS
about tuwice as LEaul}

a.sS ohe PuuncL

ol Salve as Pmpu,-{mht

[ R R
-So X793

Todolh gL

[Jeg- G35, xRy 4 X=6€11.308
d.305%k = .32 4b



4a

The product (when you multiply) of two numbers is 54, the difference of the two
numbers is 3. The two numbers are:
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8. If you have ten '2's all multiplied together what is the result? [ie: the product of all of
them]
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9. Add the following measures:
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10.  Anormal class lasts for 2 h 30 min. Josh arrives 1 hr 40 min late. Determine how

much time Josh spent in the class.
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11.  BONUS. Problem Solving - Logic / Guess and Check. If three hot dogs and
one coke cost $4.50, and three hot dogs and two cokes cost $5.25. State the cost

of one hot dog
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11.  BONUS. Problem Solving - Logic / Guess and Check. If three hot dogs and
one coke cost $4.50, and three hot dogs and two cokes cost $5.25. State the cost

of one hot dog b Y49 _
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In Grade 11 you will find way simpler ways to
solve these types of problems




BONUS Problem Solving. Determine the sum (ie: if you add them all up) of
all the counting numbers from 1t040. (ie:1+2+3 .. ++etc+++ .. 38+39 +
40). [You may enter your own calculation if none of the given choices are correct]

omeG! Done this
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It's a pattern, it is math.



DETERMINED TO DELIVER,
Baby!




